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Question 32 Band 4/5 sample 2
Start here.

I1's meraary  cel.
(] ~The satt and water (Brine) info  electplysis  cen,

then 1ne oxidation in tae anode 2017 T (ls t)e ., the c(hlorine qu

N 10 thngh_gad
been produced - The cathods onry alfow Na™ “dissolve in ama(gaM
2Na/Hg +2H0 —> 2NaOH t H> t2Hg , the NaOfi i5 produced in the warer
chamber , Tt produce hiqn purity of Na0H and releae H. gas, the Hq can
be veused . EEsmew [1's  safery tnat Clo and H. are Sperated . But enis
(0 B contain mervury| which js  +oxic to dqmage e envimmewt and

avse  (ong  cancef - And the Nabt  musr crystalise -

©J « moiten sodium Chlorids  oniy (onmain twp ions : Na'. o
oXidation Treactitn © A& 20T —> (. + 26
reduction reaction : Na® + ¢ — Nacs overan © Ma'+ c” = Nac
' aqueows sodium chiloride  contfaun hree gg Na®  ¢1” . H20

The oxidation reactfon is alwa v 2U” = (> 20 as Na® required

1

TR —Rat—yerhrenns arge energy therefore  te reaction not

been ocewr, fnen  te reduction s 2H:0+ 260 — H> + Of°

a0H
overatl reaction :  Nacl + H:0 — Hz + t (>

Theefore  the  product of = eleaﬂo(ysb aqueous  sodiam s H2 . Clo . and OH
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© 250, + 02 22 x50,

when at fime A . N(503) = 0-4mel,

=

N (50;) = 0.5 mol

0-4 mol
Cesps) = “or = 0-04M
Ceso:) = _0(_'05_:2.’_ =9-056M
Ceoy = THE = omnm
ke = _L350s7° 004" _ 16

[50:7°[0s]  0-05°x 0.04

()  when at time B. +thae potes °f 30; and 50, stay  constaat

2502 t 0> 2505 , when tha moes of 503 and 50> (5 twe

sam2 as time A . The new equfiivriart  position s formed.

Additional writing space on back page.
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Start here.

@ g seapnitication
reactawt A © NaOH
: Coconut_otl
(] dem/gsij ten  newtradise . Fi(STﬂ add the \wWater "row
add  NagH to fom the Sodp , after maring foafz, '}ah‘il«] out
o produe S S0ap - Dun‘tg the  siponification Ao net fomeh

and Staiuwr use  tar soap -

e Solwuj process s to  prodwe Nax(03 which th main st (5 7{455,7‘0
remoe the (' M9 0 hard  weter  amd  make chemicad

ammon;a
During tne Solvay  process . (0., 05 produce pur it can e reuseol

p(Jm‘n
e (a(03 + HO — (a0 t 02 1TH>0
0+ NHe + OH™ £ Nad —> NaH; + NH4Cl
NaH(03 —= Nax(03 + #85 (0> +H20
(a0 + H20 —> C(al0fi).
e T——Crottyr——t > NHlaC( + (q(0H)2 —> (aClat 2NH3 TH>0
The odveran veaction is Calls + Nac| —= Catly+ Na2(03
' The Callz s majo/ waste , Although 1+ (an be transter fo water and
Rused M solvay  Process, but +ue awenwf of (al: (5 St tes i
-nans iecmtl ho +Hmchnology o use tws- CaCla , gnd (00! the Calls before
Tt'r o SeA “water
*As solvay  process produce L‘blje amewt °f  heat . Wnre-rom_ o
thermo/  poliufion

' NOjw s anse ts  poltation
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